
® ®

Dock Accessories

SHOREMASTER.COM

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Armrest Bent Arm100789721
Armrest Tan Poly100322422
Armrest Gray Poly102907622
Tan Cupholder100176723
Gray Cupholder102907523
Bolt Bag Armrest Lakeview Bench10078931--

Bolt Carriage 1/4-20 x 1.5 SS 304100195244
Nut Hex 1/4-20 Brass100179745
Washer Flat 3/8 SS100259987
Bolt Hex 3/8-16 x 2.0 SS 304100242448
Nut Nyloc 3/8-16 Brass1001805410

Lakeview
Dock Bench

87

1

5

2

43

Failure to follow instructions may 
result in personal injury and may 
invalidate the applicable warranty.
 

Step 1. Attach armrest bent arms to dock 
bench frame as shown using 3/8" x 2" hex 
bolts, 3/8" flat washers and 3/8" nyloc nuts.
 

Step 2. Attach poly armrest to armrest 
bent arm using 1/4" x 1-1/2" carriage bolts 
and 1/4" hex nuts.
 

Note: Make sure to position poly armrest 
correctly, as shown.
 

Step 3. Insert cupholder into hole in poly 
armrest.

10

LakeView Bench 
Armrest (Pair)
Instructions
Part #: 1007898 - Tan
            1029078 - Gray

DESCRIPTIONPART NUMBERQTYITEM
Wdmt Vertical Corner Bumper102806611
Gray Cap 2 X 2 X 2100086842
Blue Bumper100425923
Black Bumper10042612-

White Bumper10042582-

Tan Bumper10042602-

Gray Bumper10306652-

Nut Nyloc 3/8-16 Brass100180564
Washer Flat 3/8 SS100259965
Bolt Carriage 3/8-16 x 1.0 SS 3041001956106
Slider Leg 37.75" Vert. Roto Bumper100311927
Nut Flange 3/8-16 Brass100180248

Note: Vertical Corner Dock Bumper will be 
attached to one of four different type of Accessory 
Dock Connectors in order to be attached to your 
dock. Below is a list of the four different types of 
docks and the required bracket.

Dock Type  Bracket Part Number
RS4 Dock  1006706
RS7 Dock  1006708
TS9 Dock  1006730

Note: In order to attach vertical dock bumper to a 
dock not listed above use two 3/8" x 3-1/2" carriage 
bolts and two 3/8" flange nuts (provided).

Vertical Corner Bumper
Instructions
Part #: 1028069 (Blue)
Part #: 1028070 (Black)
Part #: 1028071 (White)
Part #: 1028072 (Tan)
Part #: 1030667 (Gray)

Failure to follow instructions may result in 
personal injury and may invalidate the 
applicable warranty.
Step 1. Attach accessory bracket to vertical 
bumper bracket weldment using hardware from 
accessory bracket 3/8 x 1 carriage bolts and 3/8 
flange nuts. 

Step 2. Slide two carriage bolts into T-slot "A" of 
each slider leg. (Note: Refer to top view to the right 
for proper slider leg orientation.) Adjust carriage 
bolts to insert through drilled angles of weldment. 
Set slider leg to desired height and secure using 3/8 
brass flange nuts on each carriage bolts.

Step 3. Slide three more 3/8 x 1 carriage bolts into 
the other t-slot "B" of each slider leg. Place gray 
caps over top and bottom end of slider legs.

Step 4. Place bumpers over slider leg, lining up the 
three carriage bolts in the slider leg with the holes in 
the bumper. Secure in place with three 3/8 flat 
washers and three 3/8 nyloc nuts for each bumper.

Step 5. Attach bracket to dock. Slide assembly 
back so inside angle rest against leg pocket of dock.

2 2

4

5

4

5

4
5

3

6

2

6 6 3

6
6

8
8

6 6 88

1

2

6

5

4

7 7

Top view of proper slider leg orientation. 
Slider legs will not attach to angles of 
weldment if oriented incorrectly.

A

B

B

A


